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Index: 0, Unicode:

Nodes: 226, Contours: 14
BBox: (0, 0) - (2796, 304)
LSB: 0, RSB: 4, Width: 2800
Ish: 892, rsb: 1002, width: 906
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Index: 2, Unicode: 0063
Nodes: 556, Contours: 3
BBox: (0, 0) - (2800, 379)
LSB: 0, RSB: 0, Width: 2800
Ish: 20, rsh: 1664, width: 1116
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Index: 4, Unicode: 0065
Nodes: 586, Contours: 14
BBox: (0, 0) - (2800, 390)
LSB: 0, RSB: 0, Width: 2800
Ish: 914, rsb: 89, width: 1797
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Index: 6, Unicode: 0067
Nodes: 412, Contours: 2
BBox: (0, 0) - (2800, 404)
LSB: 0, RSB: 0, Width: 2800
Ish: 251, rsb: 943, width: 1606
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Index: 8, Unicode: 0069
Nodes: 382, Contours: 6
BBox: (0, 0) - (2800, 400)
LSB: 0, RSB: 0, Width: 2800
Ish: 524, rsb: 467, width: 1809
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Index: 10, Unicode: 006B
Nodes: 448, Contours: 6
BBox: (0, 10) - (2800, 492)
LSB: 0, RSB: 0, Width: 2800
Ish: 1785, rsh: 244, width: 771
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Index: 12, Unicode: 006D
Nodes: 219, Contours: 7

BBox: (0, 0) - (2800, 404)

LSB: 0, RSB: 0, Width: 2800
Ish: 1205, rsb: 1201, width: 394
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Index: 14, Unicode: 006F
Nodes: 479, Contours: 11
BBox: (0, 0) - (2796, 503)
LSB: 0, RSB: 4, Width: 2800
Ish: 691, rsbh: 699, width: 1410
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Index: 16, Unicode: 0071
Nodes: 264, Contours: 2
BBox: (0, 0) - (2801, 447)
LSB: 0, RSB: -1, Width: 2800
Isb: 339, rsb: 528, width: 1933
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Index: 18, Unicode: 0073
Nodes: 264, Contours: 4
BBox: (0, 0) - (2790, 393)
LSB: 0, RSB: 10, Width: 2800
Ish: 297, rsb: 313, width: 2190
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Index: 20, Unicode: 0075
Nodes: 312, Contours: 8
BBox: (0, 0) - (2769, 404)
LSB: 0, RSB: 31, Width: 2800
Ish: 63, rsb: 86, width: 2651
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Index: 22, Unicode: 0077
Nodes: 398, Contours: 10
BBox: (0, 0) - (2801, 407)
LSB: 0, RSB: -1, Width: 2800
Ish: 835, rsh: 844, width: 1121
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Index: 24, Unicode: 0079
Nodes: 357, Contours: 6
BBox: (0, 0) - (2790, 496)
LSB: 0, RSB: 10, Width: 2800
Ish: 179, rsb: 183, width: 2438
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Index: 1, Unicode: 0062
Nodes: 595, Contours: 8
BBox: (0, 0) - (2800, 482)
LSB: 0, RSB: 0, Width: 2800
Isb: 668, rsh: 448, width: 1684
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Index: 3, Unicode: 0064
Nodes: 422, Contours: 7
BBox: (0, 0) - (2800, 404)
LSB: 0, RSB: 0, Width: 2800
Ish: 20, rsh: 1340, width: 1440
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Index: 5, Unicode: 0066
Nodes: 632, Contours: 16
BBox: (0, 0) - (2800, 404)
LSB: 0, RSB: 0, Width: 2800
Ish: 423, rsh: 317, width: 2060
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Index: 7, Unicode: 0068
Nodes: 581, Contours: 3
BBox: (0, 0) - (2800, 407)
LSB: 0, RSB: 0, Width: 2800
Isb: 108, rsh: 1866, width: 826
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Index: 9, Unicode: 006A
Nodes: 200, Contours: 2
BBox: (0, 0) - (2800, 302)
LSB: 0, RSB: 0, Width: 2800
Ish: 2115, rsh: 533, width: 152
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Index: 11, Unicode: 006C
Nodes: 565, Contours: 22
BBox: (0, 0) - (2800, 397)
LSB: 0, RSB: 0, Width: 2800
Isb: 380, rsh: 176, width: 2244
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Index: 13, Unicode: 006E
Nodes: 734, Contours: 20
BBox: (0, 0) - (2800, 400)
LSB: 0, RSB: 0, Width: 2800
Isb: 911, rsb: 909, width: 980
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Index: 15, Unicode: 0070
Nodes: 208, Contours: 2
BBox: (0, -3) - (2805, 324)
LSB: 0, RSB: -5, Width: 2800
Ish: 427, rsh: 432, width: 1941
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Index: 17, Unicode: 0072
Nodes: 488, Contours: 9
BBox: (0, 0) - (2798, 384)
LSB: 0, RSB: 2, Width: 2800
Ish: 472, rsh: 476, width: 1852
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Index: 19, Unicode: 0074
Nodes: 182, Contours: 2
BBox: (0, 0) - (2794, 383)
LSB: 0, RSB: 6, Width: 2800
Ish: 272, rsh: 280, width: 2248
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Index: 21, Unicode: 0076
Nodes: 284, Contours: 2
BBox: (0, 0) - (2798, 404)
LSB: 0, RSB: 2, Width: 2800
Isb: 590, rsb: 585, width: 1625

X

Index: 23, Unicode: 0078
Nodes: 664, Contours: 4
BBox: (0, 0) - (2805, 506)
LSB: 0, RSB: -5, Width: 2800
Ish: 215, rsh: 198, width: 2387
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Index: 25, Unicode: 007A
Nodes: 260, Contours: 4
BBox: (0, 0) - (2783, 364)
LSB: 0, RSB: 17, Width: 2800
Ish: 622, rsh: 644, width: 1534



